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307 212+01 A 186, 188 164,064 22,124
93,094
46,547
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10 At2I SR X 186, 188 164,064 22,124
OX<otsdEe 29X 186, 188,000 186, 188

93,094
46,547
46,547
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OtsS X WA 37,152 37,040 112
26,006
5,573
5,573
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307 212tol & 37,152 37,040 112
26,006
5,573
5,573

M

10 I SXIEx 37,152 37,040 112
O0tsS=E XA 37,152,000 37,152

26,006
5,573
5,573

H W

L2EAEHIEXE 7,200 4,800 2,400
3,024

720
3,456

RURSINEH

301 et as 7,200 4,800 2,400
3,024

720
3,456

M 1AL

SEEE = 7,200 4,800 2,400
OENSENE W FSINE- 7,200,000 7,200
3,024

720
3,456

M) 1AL

lrEAH d=XE 16,800 16,800 0
4,056
1,680
11,064

M H1 A

301 et at= 16,800 16,800 0
4,056
1,680
11,064

M H1 AL

01 M2 X =52 16,800 16,800 0
FAHA=XE 16,800,000 16,800

4,056
1,680

H [
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11,064

|

A2EAEINE 2 JHERESXE 14,300 4,810 9,490
2,405
4,290
7,605

M H1 AL

301 et as 14,300 4,810 9,490
2,405
4,290
7,605

M A

01 Al 2FH =53 14,300 4,810 9,490

14,300,000 14,300
2,405
4,290
7,605

M H1 AL

ZA0tssA X 769,580 481,660 287,920
211,013
192,394
366,173

M H1 AL

301 et as 769,580 481,660 287,920
211,013
192,394
366,173

M A

01 Al 2EH =612 769,580 481,660 287,920
&) ERaPE! 769,580,000 769,580

211,013
192,394
366,173

M H1 AL

ZAotssA(BDIE E,9,835Y) 56,525 56,525 0
56,525

H

301 gt el = 56,525 56,525 0
56,525

in

o= 56,525 56,525 0
Al(EDIE E. 2, 8357Y)

56,525,000 56,525
56,525

H

HASS0S 852210 7,200 7,200 0
2,160
5,040

EURCH

301 Lt as 7,200 7,200 0
2,160
5,040

Mk

2 &6 7,200 7,200 0
OMASE0ts 50l XN& 7,200,000 7,200

2,160
5,040

M H1
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B
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SA-E . S(E) - MEAY - BES 0l & o e SImE=ET
0iglol =0l =2l 32,600 30,000 2,600
201 get2Ad| 2,600 0 2,600
02 2324l 2,600 0 2,600
OtSd=ZHAZ XSG 2AIL0E Jtiict 53
b= 1,300,000 = 2CH 2,600
401 Al EHIZ 2 OHY| 30,000 30,000 0
01 A& HI 30,000 30,000 0
OO0 0I=0I8 Al&E= 10,000,000 * 39424 30,000
OlsSotd FAFZ(CCTV)RE 150,000 0 150,000
& 75,000
s 75,000
401 Al EHIZ 2OHY| 150,000 0 150,000
= 75,000
= 75,000
01 A& HI 150,000 0 150,000
OO0tsotd HAFHE(CCTV) S 150,000,000 150,000
= 75,000
i 75,000
ZolsYLLEE LTSN 7,525 0 7,525
= 5,267
& 1,129
= 1,129
301 et al= 7,525 0 7,525
= 5,267
L= 1,129
i 1,129
01 Al EEH =052 7,525 0 7,525
OZliotsyLLd=s=HE2LS 7,525,000 7,525
= 5,267
= 1,129
= 1,129
CEHAEEDNS MY = 150,000 0 150,000
= 150,000
307 21Ztol 150,000 0 150,000
= 150,000
10 At S X2 X 150,000 0 150,000
OSEAEENIS MEFA 150,000,000 150,000
= 150,000
gEa0ts NEEES 5,000 0 5,000
= 1,000
= 4,000
307 21Ztol 5,000 0 5,000
= 1,000
= 4,000
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U
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5,000

1,000
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H

99,274
32,663
18,222
48,389

71,970

27,304

M

36,650
29,320
3,665
3,665

46,291

A9,641

W

36,650
29,320
3,665
3,665

46,291

A9,641

36,650,000

o

36,650

36,650
29,320
3,665
3,665

46,291

A9,641

Ml 1

51,420

10,626
40,794

16,000

35,420

U

51,420

10,626
40,794

51,420

OMASERRIE stsMadls N

_“:_j|.x-| AH

o o

Al K&

200,000 * 20AMICH* 43l

35,420,000

U

51,420
16,000
35,420

10,626
24,794

51,420

H W

4,179
3,343
418
418

9,679

25,500

H

4,179
3,343
418
418

9,679

5,500

AN 4,179,000

Mo

4,179
4,179

3,343
418

9,679

A5,500
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7,025

3,513
3,512

7,025

Mok

7,025

3,513
3,512

7,025

w=Hl X&

7,025,000

M H

7,025
7,025

3,513
3,512

7,025

MW

497,404
308,700
92,911
95,793

487,000

10,404

U

172,200
86,100
43,050
43,050

164,000

8,200

307 g12+0l ™

MW

172,200
86,100
43,050
43,050

164,000

8,200

172,200,000

MW

172,200
172,200

86,100
43,050
43,050

164,000

8,200

OtolSE0l X3

MW

318,000
222,600
47,700
47,700

323,000

A5,000

307 212+01 o

Moo

318,000
222,600
47,700
47,700

323,000

5,000

E+
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0

Ot
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IS 20l XA

O

318,000,000

Moo

318,000

318,000
222,600
47,700
47,700

323,000
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HOISH2S 20| MHIAX &

A H

7,204

2,161
5,043

7,204

307 212+01

A H1

7,204

2,161
5,043

7,204
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SHol: 2A20HY B XY (Erol: &2
_ _ HE T
SH-EH . S2(30) - MRAY - BES O] &b o4 Sl ko HRE2

05 BIZtR &= 7,204 0 7,204
OEEtsdE=20IMHIAXR 7,204,000 7,204
= 2,161
i 5,043

=22t 838 =4 405,024 302,224 102,800
= 222,521
= 86,458
i 96,045

23t X2dH 29 259,030 76,643 182,387
= 181,321
= 38,855
= 38,854

307 QI2H0I & 259,030 76,643 182,387
2 181,321
= 38,855
2 38,854

05 212t9let 2 259,030 76,643 182,387
OUISEIIEXNME 2SN 259,030,000 259,030
= 181,321
& 38,855
2 38,854

Ch23tE 22w S ALY 32,190 141,960 A 109,770
= 32,190

307 21Z2tol & 32,190 141,960 A 109,770
= 32,190

05 BIZ2tR &= 32,190 141,960 A109,770
OUS3IHE d2usAE 32,190,000 32,190
& 32,190

ZE0/8XK =0 W= 4,000 0 4,000
& 1,200
i 2,800

307 21Ztol ™ 4,000 0 4,000
& 1,200
i 2,800

05 212t 9IEt3 4,000 0 4,000
OZE0I12A &= W= 4,000,000 4,000
= 1,200
= 2,800

ZE2OIOIX AEY HAYX 9,707 9,707 0
= 2,912
i 6,795

307 21zZtol ™ 9,707 9,707 0
& 2,912
= 6,795

05 BIZtRIE S 9,707 9,707 0
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el CH2EOlE B2 X4 EEREED
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SH-EH . S2(30) - MRAY - BES O] &b o4 Sl ko HRE2
OZE0I2AINE &EE HHXNE 9,707,000 9,707
= 2,912
2 6,795
CRstEIE Y2ssX X 3,241 3,241 0
= 972
= 2,269
307 QI2H0I & 3,241 3,241 0
& 972
i 2,269
05 BIZtREZ 3,241 3,241 0
OU=23tE XN 2285k A& 3,241,000 3,241
& 972
2 2,269
CG23tEXE 01 WA 16,264 16,252 12
= 11,385
& 2,440
i 2,439
307 2I2toI ™ 16,264 16,252 12
= 11,385
= 2,440
i 2,439
05 QI”tRIEZ 16,264 16,252 12
OU2EXNE 0152 wa 16,264,000 16,264
= 11,385
= 2,440
= 2,439
2308 d doge X 29,465 29,421 44
= 20,626
= 4,420
= 4,419
307 21Ztol 29,465 29,421 44
2 20,626
= 4,420
2 4,419
05 BIZtRIE 3 29,465 29,421 44
OCHREIIE A 210122 N¥ 29,465,000 29,465
2 20,626
= 4,420
2 4,419
200K WIS ¥ X 30,000 0 30,000
307 QI2H0I & 30,000 0 30,000
05 BIZtR &= 30,000 0 30,000
OZ=0124 Wogd=z X3 30,000,000 30,000
HEZUE3IIE0l Mot JHE A TOUR 3,000 0 3,000
307 2IZtol 3,000 0 3,000
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SA-ZH - S2A(3AH) - MEAME - HES Ofl &k K Ofl At ot Blusz
05 QI2t9|&t 3 3,000 0 3,000
OUHR3ItE0l 8HBtE IHEAZEO
3,000,000 3,000
CHE3tANS| 01 ALK & 5,000 0 5,000
= 1,500
= 3,500
307 2I2H0I 5,000 0 5,000
=3 1,500
= 3,500
05 QI 2t eta 5,000 0 5,000
OCH2 3H ARSI 01 A & AL 5,000,000 5,000
= 1,500
= 3,500
ZE0IUK 5. HANHA 13,127 0 13,127
= 9,189
= 1,969
= 1,969
307 2I2+0| 13,127 0 13,127
= 9,189
= 1,969
= 1,969
05 QI2te era 13,127 0 13,127
OZE0IUX S.HAAEIA 13,127,000 13,127
= 9,189
= 1,969
= 1,969
s Y 90,380 77,593 12,787
= 24,234
= 11,953
= 54,193
0I5 AL K| 30,240 28,240 2,000
201 YEr2ey| 840 10,840 10,000
01 At 22lH| 840 840 0
oeg+y 840
—Olg YN FoFALY
0,000 * 12 * 13| 840
301 LerE A 5,400 5,400 0
10 BAAHI 2 A3 4,000 4,000 0
ONMEX2 N8 L HAES P4
20,000 * 1002 2,000
OOMSAS A NE L AOIU S HABa
20,000 * 50% 1,000
OWSEH NENUE HAX L4
100,000 * 102 1,000
12 B2 A3 1,400 1,400 0
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SN -BH - S(B) - MRAY - BES Off &F o4 il b o HRE2
OOi&22! &If KX 200,000 * 7% » 13l 1,400
307 QI2H0I & 24,000 2,000 2,000
02 RIBNEE 2,000 0 2,000
004 228 L NS §AFB 12,000,000 12,000
RYEENEES 12,000 2,000 0
OO&FAIGA 2 DS 2,000,000 12,000
EEEE VR T=b 37.800 18,000 19,800
2 18,900
= 9,450
2 9,450
101 21218 37,800 18,000 19,800
2 18,900
= 9,450
2 9,450
UBELTEESTETPS 37,800 18,000 19,800
OLACIHOA HSMHA 29 37,800,000 37,800
2 18,900
= 9,450
2 9,450
VELREEES 12,000 9,000 3,000
401 A& HIL 2 1Y) 12,000 9,000 3,000
01 Al bl 2,000 9,000 3,000
Oo4slZ N4 2,000,000 2,000
Y= MEATHK 22 KL 820 500 320
= 574
= 123
2 123
301 LB BAS 820 500 320
2 574
= 123
2 23
SREEEERTE 820 500 320
O =AW H X2 EHI K& 320,000 320
= 224
= 48
2 48
OS =AM 24| X2 500,000 500
2 350
= 75
= 75
Ols - 01885 xoeil) 2 7,200 7,200 0
2 3,600
= 1,800
2 1,800
307 ©I2H0IF 7,200 7,200 0
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2 3,600
= 1,800
2 1,800
10 MBI =X 2 7,200 7,200 0
OO0tS - i&25 NAASY 7,200,000 7,200
2 3,600
= 1,800
2 1,800
OIS . 01425 NI OISAFNE HE 2,320 0 2,320
2 1,160
= 580
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307 2120 2,320 0 2,320
2 1,160
= 580
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LEEPEES 2,320 0 2,320
OOS. GBS X (OISAMKE RIF)
2,320,000 2,320
2 1,160
= 580
2 580
CQSNSH(ASISR /el - BAH) 20, 110,004 17,449,030 2,660,974
2 7,450,928
= 327,318
= 4,879,634
2 7,452,124
COSEQUAL KR (BSU - A4) 5,474,210 5,250,158 224,052
2 495, 192
= 3,696,811
2 1,282,207
ABI=X #E X8 17,130 26,010 8,880
201 YEr2 | 11,250 19,170 AT7,920
02 BB S| 5,250 13,170 A7,920
OZZ22 % MAl 5,250
—MBIZTAE LA 42
150,000 * 350H £ 5,250
03 A2 b 6.000 6.000 0
OMSIZX BASY 6,000,000 6.000
202 01t 2,880 3,840 £960
01 2UHOIH| 2,880 3,840 2960
O=Q=XY L0t
20,000 * 3% * 42 « 128 2,880
203 Y L= 3,000 3,000 0
03 Al ZR Y RE I H| 3,000 3,000 0
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476,807

o Vi
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333,765
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Z=H12 7HA)

EURCH
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, 118,302

542,010
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2,928,250
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542,010
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U
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3,660,312

2,928,250
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UM IAIE KT

704,203
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193,861
452,342
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301 et el = 646,203 278,098 368,105

193,861
452,342
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X
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193,861
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M A

H ML

LOIMEAY K& 350,252 402,400 A52,148
158,926
84,720
106,606

H

Hel2E Rl MEAE XS 32,400 32,400 0
9,720
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M H1

307 212tol & 32,400 32,400 0
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EURE

22X 32,400 32,400 0
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402 QI2E X0 A 317,852 370,000 A52,148
= 158,926
[= 75,000
= 83,926
01 QIZIXt=E =X 317,852 370,000 AB52,148
OLAEl)IsEA(ZSU) 300,000,000 300,000
= 150,000
[= 75,000
= 75,000
OLQAIEIISEL(AA) 17,852,000 17,852
= 8,926
= 8,926
AAUSD I L sME SR 8,387,907 8,136,220 251,687
= 6,324,589
=2 45,900
[= 453,916
= 1,563,502
JEL-™HZ 7,696,463 7,553,000 143,463
= 6,161,403
[= 302,487
= 1,232,573
301 Yt AR 7,696,463 7,553,000 143,463
= 6,161,403
[ 302,487
= 1,232,573
01 ASI 2 &= 252 7,696,463 7,553,000 143,463
OJELEAZ X 7,696,463,000 7,696,463
= 6,161,403
[= 302,487
= 1,232,573
JIZMEBELOIIIR A HetH| X 300,000 300,000 0
[= 90,000
= 210,000
301 Yt AR 300,000 300,000 0
[= 90,000
= 210,000
01 AHBI X =452 300,000 300,000 0
OJ|ZMEER LoD sty
300,000,000 300,000
[= 90,000
= 210,000
CoEEssMHIA 144,791 59,980 84,811
= 101,353
[= 21,719
= 21,719
307 @I2+0| ™ 144,791 59,980 84,811
= 101,353
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OkolssSse ML 144,791,000 144,791
= 101,353
& 21,719
= 21,719
LolEsIIEaMEIA 88,333 74,540 13,793
= 61,833
& 13,250
= 13,250
307 S12H0| & 88,333 74,540 13,793
= 61,833
& 13,250
= 13,250
10 At3I =S X2 X 88,333 74,540 13,793
Okol=sJI2AMHlA 88,333,000 88,333
= 61,833
o= 13,250
= 13,250
HASMIOL- QA AN E 105,840 94,500 11,340
= 45,900
L= 26,460
= 33,480
307 QIz2tol A 105,840 94,500 11,340
= 45,900
& 26,460
= 33,480
10 AtRIS X2 X 105,840 94,500 11,340
OMASTHIL= QA AN E 105,840,000 105,840
= 45,900
& 26,460
i 33,480
COlEAN & B N 52,480 54,200 A1,720
301 etz azg 2,480 4,200 A1,720
10 HAAHIE A = 480 1,200 ANT20
OLQINS o BAEA D
20,000 = 29 * 12& 480
12 J|Et2 43 2,000 3,000 A 1,000
OLoI=XI&#A Al&t 100,000 *= 10¥ = 23l 2,000
307 2120l & 50,000 50,000 0
03 A3l EHAHEXZ 24,000 24,000 0
Ot JtE =X 3l 24,000
—igtols 2<% 15,000,000 15,000
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